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3 vampire $32,000
S $34,000
2 werewolf
§ _ $80,000
witch $151,000
zombie $197,000

1. The employee with the $32,000 salary is Elaina.

2. Either the employee with the $32,000 salary or the employee with the $34,000 salary watched TNT.
3. The person who watched Showtime didn't dress up as a zombie.

4. The employee with the $151,000 salary dressed up as a zombie.

5. The 5 people were Harmony, the trick-or-treater who dressed up as a werewolf, the person who watched Showtime,
the employee with the $34,000 salary, and Bryant.

6. The trick-or-treater who dressed up as a witch earns less than the trick-or-treater who dressed up as a vampire.
7. Hugo earns less than the person who watched PBS.

8. The person who watched CNN is not Harmony.

9. Kyleigh earns more than the person who watched PBS.

10. Of Hugo and the trick-or-treater who dressed up as a witch, one watched HBO and the other watched PBS.

11. The employee with the $197,000 salary is not Bryant.



